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The social f)roblem of resource allocation requires society to decide
all of the following :

bothdande

how output should be produced

what goods and services should be produced

who gets what society produces

|

When all resources used in production are not perfectly substitutable,
specialization does not lead to greater production
}“r e economy or firm is producing at a point outside of its production possibilities
ontier
there will be constant opportunity costs
the production possibilities frontier will be concave (bowed outward)
the economy or firm will only produce one good in equilibrium
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An excess supply of rice in a competitive market would indicate that

the problem of scarcity has been solved in that market

buyers want to purchase more rice at the current price than the sellers want to sell
the market will not be able to approach equilibrium

the entire supply curve must shlIET) to the left in order to attain equilibrium

the current price exceeds the equilibrium price
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If an excise tax is imggsed on a good or service,
the supply curve shifts upward

the supply curve shifts downward

the price paid by consumers decreases

the net price received by sellers increases

the quantity produced and sold increases
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When there is a positive cross-price elasticity of demand between two goods,
they are independent goods

they are complementary goods

they are substitute goods

they are normal goods

the income elasticity of demand is positive

6.  Suppose that when the price of aspirin rises from $2 to $3 per bottle, the quantity
demanded falls from 800 bottles per day to 700 bottles per day. Over this range, the
demand for aspirin is

a. elastic

b. unitary elastic

c. perfectly elastic
d. 1nelastic

e. perfectly inelastic

7.  If the substitution effect of a lowered price is partly or fully offset by the income effect,
we know that the good in question is a(n)

a. complementary good
b. inferior good

c. luxury good

d. normal good

e. substitute good

8. When long-run average total cost increases as output increases, a firm experiences
a. diseconomies of scale
b. economies of scale
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constant returns to scale za

c.

d. decreasing marginal cost

e. greater total cost in the long run than in the short run

9. Marginal revenue is

a. the change in total revenue divided by total output

b. total revenue divided by total output

c. total revenue minus total cost then divided by total output

d. the change in total revenue divided by the change in price of output

e. the change in total revenue divided by the change in total output

10. One of the defining characteristics of a perfectly competitive market is

a. both buyers and sellers are well informed about the market

b. asmall number of buyers

¢. high barriers to entry

d. asmall number of buyers but a large number of sellers

e. buyers are better informed about the market than sellers

11. A monopolist should shut down in the short run if

a. price is less than average variable cost

b. price is greater than average total cost

c. marginal revenue equals marginal cost

d. marginal revenue is less than marginal cost

e. price exceeds average fixed cost

12. All of the following, except one, would serve to increase competition in an oligopoly.
Which is the exception?

a. increased imports from foreign firms

b. an increase in the minimum efficient scale

¢. an increase in the size of the market

d. new technologies that reduce barriers to entry

e. action by the U.S. Justice Department to break up large firms

13. Afirm's labor demand curve shows the relationship between the

a. wage rate and the quantity of labor supplied

b. marginal revenue product of labor and the marginal product of labor

c. wage rate and the quantity of labor demanded

d. marginal product of labor and the quantity of labor demanded

e. wage rate and the quantity demanded of the good produced by labor

14. Which of the following is a normative macroeconomic statement?

a. An increase in government spending will reduce unemployment.

b. An active government policy should be employed to maintain a healthy economy.

¢. The unemployment rate is 10 percent.

d. There is a positive relationship between inflation and the rate of growth of money

e. Gross domestic product grew 3 percent this year.

15. Cyclical unemployment

a. is short-term joblessness experienced by those who are between jobs

b. is joblessness created by a mismatch between available jobs and workers' skills

c. ish joblessness related to regular seasonal events such as holidays or weather

changes

d. is joblessness caused entirely by microeconomic forces

e. does not exist when the economy is at full employment

16. Suppose that the inflation rate for a given year was 3%. In that year,

a. all prices rose by 3%

b. prices on average rose by 3%

c. the economy was in an expansion
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d. the economy was in a recession (4% 1
e. the inflation rate was rising

17. If political influences, independent of any economic forces, lead to a larger government
budget deficit, what will be the effect on the loanable funds market?

The interest rate will rise and the amount of saving will increase.

The interest rate will fall and the amount of saving will increase.

The interest rate will rise and the amount of saving will decrease.

The interest rate will fall and the amount of saving will decrease.

The interest rate will rise but the change in saving will be ambiguous.
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. _Which of the following is counted as money?
Bonds
Credit card payments
Credit card limits
Currency
Corporate stock
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9. Suppose the quantity of bonds demanded exceeds the quantity supplied at a given
interest rate. What will happen to restore equilibrium?

Bond prices will increase and the interest rate will rise.

Bond prices will decrease and the interest rate will fall.

Bond prices will increase and the interest rate will fall.

Bond prices will decrease and the interest rate will rise. -

Bond prices will increase and the interest rate will stay the same, as bond prices

are independent of the interest rate.
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20. Ifthe %rice level is increasing and output is falling, which of the following could be the
reason’

a. A negative demand shock

b. A positive supply shock

c. Apositive supply shock combined with a positive demand shock

d. A negative supply shock

e. A positive demand shock
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